201200000 2400000000

Jood A

gooo
20110000 230080 290000

9:0000 12:00

gobboogoobobuoooobobooooboo
gobbooogbbobuoooobo
goboboogoobooo

gbogbbogbogbboboobobuooboogobogbobooogdoogad

goboobobouoogon

gbobboooobbbuoodbbboooobbbuooobbbog



000 ooooooooo.

(1) 000 {a,}, 0 lima,=0000000,
n—oo

hm<1+@ﬂn:1

n—oo n
0oooooooooo.

(2) sO0 t+00000000,000 {a,)2, 0

an:(n—i-s)cos(%)—n (n=1,2,3,---)

OO000000. 0000 cosz DODOODOODOODOODO, lima,=000000
n—oo
000 sO ¢t00 (s,t) D0000O0ODO.

(3) DoDOoOoOoOoOoooo.



000 A0 3x200000,B0 2x300000000,0 ABO

-3 =2 1
AB = 4 3 -1
-4 -2 2

goboog.

(1) ABOOUOO «000OCOD.000OO0ODO «OOOOOOOOO V0000
goooog.

(2) €V, 000,y=Bx000.0000 BAy=ay 0000000000

(3) go : Va—C20 go(®) =Bz 0000000000000.0000000 a
000,¢,00 Img, 0000OODO.

(4) BAODDOOO.



000 0000000 ROODOOOO0O0O0O0O0O0OOD0O0000000 X000, 00,
000 {[a,b)|a,beR, a<b} 000000000000 ROOOOOOO000O0OO
000 YOOO.O00 ROODODOOO00000 XO0O0YOOoOoOoOo f00,0000
0 ROOOODOOOOOO YOO XO00000 ¢g000.

(1) f: X—YO0OOOOOO0OO0OO0OO0OOO.
(2)g: Y —X000000OOOOOO.

(3) ROOOOO A0 A~ O

ar={

obooboo.0bdb Xooboobooooboobooo,bobobobooo
goboooogo.

1

‘n—Lzﬁ,u}u{m, A—{-"-)n—Lzﬁ,u}u{m

S|

n

4) ATD A0 YOOOOODODOOODOOOOO0OO0OO0OO0O,000000000000
goooo.



000 oooooooood
1

25 +1

flz) =
oooo.
(1) f(z)0 z=¢™0000000000. 00000000000

(2) 00 R>1000,

A

| 9
Ig:{Rw‘oge %}

gogd.oooo
lim f(2)dz=0
T'r

R—o0

gbobbooaobo.

(3) 00D0O00OO.

/°° 1 d T
r = :
o @’ +1 5sin(7/5)



